Helpful Facts for Section 6.1:

1. The margin of error for a level C confidence interval for the mean µ of a population with known standard deviation σ, based on an SRS of size n, is given by 
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.  This margin of error is exact when the population distribution is normal, and is approximately correct for large n in other cases.
2. z* is obtained from the bottom row in Table D:
	z*
	0.674
	0.841
	1.036
	1.282
	1.645
	1.960
	2.054
	2.326
	2.576
	2.807
	3.091
	3.291

	C
	50%
	60%
	70%
	80%
	90%
	95%
	96%
	98%
	99%
	99.5%
	99.8%
	99.9%


3. The minimum sample size required to obtain a confidence interval of specified margin of error m for a normal mean μ is given by 
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